#R=l

- N :|:
A K& B@ R U R K 4% 6 &£ 12 B 10 B
% 2 | ERPAEEFERIT(O)
15 AT | TENISE EEAaT EZHR) (Eh
# i ~ & 7 4% 3 B 14H F E M —_
= W @ 11,052, 000 £ 15 %1 IR 1E 1% 8,289,000
F ® OB % 11,052, 000 H
A L ] (M) EALEBD UL
B AN RiEEE
® & & g 1 [ T 2 [H g 3 [H (Fq)H =
RARE () 11,750, 000 11, 400, 000 %58
7 34 (s AT
R BREE 11, 800, 000 11, 450, 000 3B
=1
() TREERX 11,530, 000 11, 200, 000 11,000, 000 A,
FNTT @) 11, 700, 000 11, 350, 000 11,150, 000 % it 12
) BRAR 11, 600, 000 11, 300, 000 R
1 =

1. EFERET. HEBRRUHMAEERZEEEL,

2. BERO TEBEL] X, AMLSNERBERR. EEISEV=OHXE,




